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3. Deuslsorine ampliier of FIGURE 13(s) are given below.
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(Calculate the worst case eror in output of the amplifier of
FIGURE 132 i e input signal i 10 mY.

A resistor By is added to the amplfier, a5 shown in
FIGURE 130, o reduce afst. Caeulte 2 siable vlue f .
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(@ The resisto in th non-imverting inpt s sbsnt, 2. 2y
e offet equation besomes:
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For th vluss given:

(0 010 x ) 0 o L2

Vi = L1+ 0,508 = L908 v

Thi offe willgive s e of 190% o e it signslof 10 V. The
contrbution due o Vg can, of course,be asily ulled, leavin Uz 35
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